v/ SP-II1/Botany/CC-IC/GE-3/18
B.Sc. 3rd Semester (General) Examination, 2018 (CBCS)
Subject : Botany
Paper : CC-IC/GE-3

Time: 2 Hours Full Marks: 40

The figures in the right hand margin indicate full marks.
Candidates are required to give their answers in their own words

as far as practicable.
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1. Answer any five of the following questions: 2x5=10
fsfRe @ @ A5 2eE Ted e ¢
(a) Define dichogamy with example. 1+1=2
faw sAfvefen Snzgemz 7K@l s |
(b) What is complex tissue? Give example of one complex mechanical tissue. 1+1=2
wfoe el I A2 @I Toe AfET T THIRR e |
(c) Where do you find guard cell? State its function. 1+1=2
TR @M @I e AH? 9T FE 2
(d) What is velamen? Where does it found? 1+1=2
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(e) What is campylotropous ovule? Give example. 1+1=2

T o7 e F @2 Tuiggd we |
(f) What is pollinium?
siferferasy e
(g) Differentiate endospermic and non-endospermic seed with example.
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(h) Distinguish between Exine and Intine.
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2. Answer any two questions from the following: 5%2=10
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(a) Mention the anatomical differences between monocot and dicot stem. What is exarch

xylem? 4+1=5
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(b) Describe the contrivances of cross pollination with examples. 5
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What is wood? Distinguish between heartwood and sapwood. 1+4=5
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Write short notes on: 2V54+215=5

(1) Annual Ring (i) Poly-embryony
B el ¢
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3. Answer any two questions from the following: 10x2=20
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(a) Discuss with diagram the intrastelar secondary growth of dicot stem. What is secondary

(b)
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(d)

meristem. 8+2=10
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Compare the anatomical adaptive features of hydrophytes and xerophytes in different plant
parts. 5+5=10
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Describe the structure of male and female gametophytes in angiosperms. What is double
fertilization. 8+2=10
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Describe different seed dispersal mechanisms found in plants mentioning respective agencies.
Mention the adaptive features of seeds for wind dispersal. What is viviparous germination?

2+6+2=10
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